20124E PBIREwRFAEBEEE F4E AKXV I H
2012/10/8 BERAE—Fo=A TYhh—F
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15| HEH 6|FA & 1:13.020 0:59.520] 0:59.520 15
115 1IEX &F 0:59.590 1:05.220]  0:59.590 12
12|EE 5|f88 EL=5R 1:00.010 1:03.280] 1:00.010 10
13|B K 4{HE N 1:00.670 1:14.220]  1:00.670 8
S 5|a & 1:02.470 1:01.600]  1:01.600 6
AELE | BKR IS 1:02.750 1:01.890]  1:01.890 5
8|H K& |&F & 1:03.300 1:02.900] 1:02.900 4
14|3E 4|/hMH BEKER |[MC 1:06.780] 1:06.780 3
HEX: 1l fi= 1:08.720 1:17.800]  1:08.720 2
MEX:S 4[/NEFEE thid 1:13.100|MC 1:13.100 1
208 K88 1| 5/H ®E MC 1:15.090] 1:15.090 0.5
3| fdEE 2|F#E #1X  [DNF DNS 0
AIEENE [IBEA *hHEH DNS DNS 0
5| EE 1R B MC MC 0
10| #HEE 355 X [DNS DNS 0
18(—#g KEBXE 0:58.950 0:54.890]  0:54.890
21| —1#g FEELE 0:57.470 0:56.830] 0:56.830
23| —#% REFELE 1:01.080 0:59.590]  0:59.590
24| —#% SRR EAE 1:00.860 1:03.570] 1:00.860
19| —#& HBHELE 1:01.830 1:00.890]  1:00.890
26| —#% MIETHE 1:02.570 1:01.480]  1:01.480
22| —h% EHIA 1:13.870|MC 1:13.870
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